Early Algebra Project

           5-15 February Assessment

    The Mason School


Name: _________________________________________ Date: _________

Jason has $6 in his pocket. The rest of Jason’s money is in Jason’s piggy bank.

Kimberley has 3 times the amount of money that is in Jason’s piggy bank.

1.  Carefully read the story above about Jason and Kimberley. Then fill in the missing values in the tables below :

	Money in Jason’s  piggy bank (dollars)

P
	Jason’s total money (dollars)
	
	Money in Jason’s  piggy bank (dollars)

P
	Kimberley’s total money (dollars)

	0
	6
	
	0
	0

	1
	7
	
	1
	3

	2
	8
	
	2
	6

	3
	9
	
	3
	9

	10
	
	
	10
	

	11
	
	
	11
	

	12
	
	
	12
	

	P
	
	
	P
	


2. Who has more money? (Circle your answer)

(a) Jason 

(b) Kimberley

(c) It depends…

3. Explain your answer __________________________________________________________________

___________________________________________________________________________________

___________________________________________________________________________________

Name: _________________________________________ Date: _________

Jason has $6 in his pocket. The rest of Jason’s money is in Jason’s piggy bank.

Kimberley has 3 times the amount of money that is in Jason’s piggy bank.

Total Amount ($)

	
	1. Whose amounts are shown in the graph on the left? (Circle your answer)

                 (a) Jason’s                         (b) Kimberley’s

2. Explain:_________________________________________________

_________________________________________________________

_________________________________________________________

3. Draw the line for the other child’s amounts.

4. Make a circle around the part of the graph that shows Jason having more money than Kimberley. 

5. How much money has to be in the piggy bank for Jason to have more money than Kimberley? ____________________________________

______________________________________________________

6. Make a square around the part of the graph that shows Kimberley having more money than Jason.

7. How much money has to be in the piggy bank for Kimberley to have more money than Jason?  ________________________________________

_______________________________________________________

8. Draw an arrow to show on the graph where Jason and Kimberley have the same total amount of money.




































































































































































































































































































































































































































































































































































































































































Amount in Jason’s Piggy Bank ($)
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